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myMmIie)

ITocnoBHY |
NOMONHHU IPOCTOP
y obaactu
NIPOU3BOIELE U
IUCTpUbyLHje
€JIeKTpIYHe
€Hepruje

KM

Im?x 9,00 = 9,00

Im? x 8,80 = 8,80
KM

Im? x 8,60 = 8,60
KM

1m?x 7,50 = 7,50
KM

Im? x 5,40
KM

=5,40

1m?x 5,20 = 5,20
KM

1m? x 5,00 = 5,00
KM

ITocnoBHU U
NOMONHHU MPOCTOp
y obnactu opyre
NPOU3BOIHHE
(meTasicka, IpBHa,
npexpambeHa u
ci.)

KM

1m? x 6,00 = 6,00}

Im?x 5,40 = 5,40
KM

1m? x 4,80 = 4,80
KM

1m? x 4,00 = 4,00
KM

Im?x 3,00
KM

= 3,00

Im?x 2,80 =2,80
KM

Im? x 2,50 =2,50
KM

ITocnoBHU 1
NOMONHM POCTOP
y obnactm
TPrOBHUHCKE,
YTOCTHTEJBCKE,
yCIy>XHe
OCTaJTUX
I[JeTaTHOCTH

1m? x 4,80 = 4,80
KM

1m? x 4,00 = 4,00
KM

1m? x 3,60 = 3,60
KM

1m?x 3,20 =3,20
KM

1m? x 2,40
KM

=2,40

Im?x 1,60 = 1,60
KM

1m? x 0,80 = 0,80
KM

[TocnoBHHU 1
NnoMOhHHU POCTOp
y obmactu
YTOCTHTEJBCKHX
ofjekara 3a
CMjelITaj: XOTeNH
1 MOTENH

1m? x 3,00 = 3,001

KM

1m? x 2,00 = 2,00
KM

Im?x 1,80 = 1,80
KM

Im?x 1,60 = 1,60
KM

1Im?x 1,20
KM

= 1,20

1m? x 0,80 = 0,80
KM

1m? x 0,40 = 0,40
KM

8rop WP
Ika S

-




